5126E TR
IRE 95TV I bTFZAXRE

=! B SHS5&FE4A298 (#)

+ : 885304
ZHEh-OTHhLREHEI—FTHE LTS,
Hepds o 9K (8718: 00) XEaRAbdD

= 15 SEREEKIG(6M) - FIFETEERKS (2/@)

i Al BF 186-280-38R-480-588 KT 185-2%B

£ 8 IRRVIM=RER

t#* B IERE&R. IRELEBEZER. IRXRAEHR

1 2 FHerva—#Asit

HEAHE 1F—L IRTOEKE, BIE, TXTI—THELET,

MBEGRE ARBEEABRYINZRER VI ZANRTYIIZEYITOET,
IVFIEET7RS —LTY, BHIE., HEBFTHESHELET,

X

ZMER IRRVIMNZRAEBZHFAKFMENDBEAZFLTNSIL,
& M & —BEF—L 6,000 BHEELUTF—L 3, 000H

= g BF1E  BEBICERK-ER
BEFxofp  BEICERK-ESHR
BEF3IE - EBEHICERK-EH
BF4E - BEICERK-ESR
B¥58 - EBEHICERK-EH
ZFI1E . BEICERK-ESHR

288 - EBE-EEBICERK-ER

%“IWT@&E@*ETTO
*ERYDRIZELTELIOEOEY 2HEL. TSEFETEFLRY KL,
KEFEEHKSG TNV TORY ANEILETT,
FHEEFEHEMAY DLE OHXFARR—R(IBFBEGEEEEIRZE LTHAT S8
RNUFELTHEALBLTLESL,
KEZEEIT, FROITEEIZ, FE20FHRELHF TS,
HA—FPATESLT TR a—XZFEALTLLEELY,



BF1E (213 fEEk15)
F—L%A 1 2 3 4 i = NI 52
1 [BINFZ2O5TA ©) @) @ | 3/3 1
2 [BINF=2057B O @ 1 1/3] O 3
3 SIFINOSTA 1 1 @ |1/3| -4 4
4 |BIG PEACE 1 @ 1 1/3 | +4 2
1-4 - 2-3 + 1-3 + 2-4 - 3-4 - 1-2
BFo2E} (7)1 RO BT fE B 5]
F—L%A 1 2 3 4 i = NI 52
1 sIPINoST8 1 1 @ |1 1/3 3
2 |Charles’'s Wain ) 1 1 1/3 2
3 | TINDSTA @ @ @ |1 3/3 1
4 |h0EES 1 @ 1 1/3 4
1-4 - 2-3 + 1-3 - 2-4 - 3-4 - 1-2
BF3E6 (2135515
F—L%A 1 2 3 4 i S = NI 52
1 |BOSASRA @ @ 1 /3| -1 3
2 |BHEASKE 1 ©) 2 /3| O 2
3 |IRDA 05T 1 O O /3 4
4 |GTREISTA @ 1 ©) /3| +1 1
1-4 - 2-3 + 1-3 - 2-4 - 3-4 - 1-2
BF4E [ I R BT REER 5]
F—L%A 1 2 3 4 i S = I 52
1 |BuSASKRC ©) @ 1 1/3 3
2 |&=F 2057 O O O 0/3 4
3 |Dice ©) ©) 1 2/3 2
4 |KFK @ © 2 3/3 1
1-4 - 2-3 + 1-3 - 2-4 - 3-4 - 1-2
BF55B (2 REEkiE)
F—L4B 1 2 3 it B = [=0ivd
fight10 ©) @ |12/2 1
2 |GTREZSTB O 1 /2 3
3 [D5N1\H5T8B O @ 1/2 2

1-3-2-3-1-2




ZF 18R

F—L% 1 2 3 4 i = [[=Fiva
1 ®INF=29570 © ) 2 13/3 1
2 |IRD+A +OST O 2 1 1/3| +8 2
3 |[DNDST 1 1 ) 1/3 -7 4
4 |BROST 1 @ 1 1/3| -1 3
1-4 - 2-3 + 1-3 + 2-4 - 3-4 - 1-2
TF2E A [21FFEBkiI5)
F— L% 1 2 3 it F = [[=Fiva
fight10 ) 1 1/2 2 1
2 l&a=F=2957A 1 ) 1/2 2 2
3 lIPINoST @ 1 1/2 | -4 3
1-3 - 2-3 - 1-2
ZTF2E B EXI330))
F—L4 1 2 3 fs == = [[=Rivd
1 |GTREYSTA ) 1 1/2 | +3 1
2 |l8=F=—27578 1 @ 1/2 @) 2
3 |GTREYSTB @ 1 1/2 | -3 3
1-3 - 2-3 - 1-2
ZF2ERIERLRTE
A1{z fightl0
fight10
Bi1fi GTREZ S JA
A2 &8ZFT=RYU S TA
E_T=-RITTA
B2 &8=-5T=X4957JB
A3f SIFNSST
IRINOSD

B3 GTREYZ S 7B




= EEIXIS

- Ad—b Bd—bk ca—»b
BT BF34 BF 588
SR ER 1 - 4 |®3 1 - 4 |55 r - 3
2 | B1 2 - 3 |E®3 2 - 3 |B5 2 - 3
3 | B 1 - 3 |B3 1 - 3 |B5 1T -2
4 | B1 2 - 4 |E3 2 - 4
e B =R 3 - 4 | B3 3 - 4
6 | B1 1 - 2 |B3 1 - 2
e
8
. Da—F Ea—b Fa—+h
TF1E ZF240 TF2HR
1 | &1 1 - 4 |&2A 1 - 3 |&2B 1 - 3
2 | &1 2 - 3 |%&2A 2 - 3 |%2B 2 - 3
3 [ & 1 - 3 |&2A 1 - 2 |&2B 1T -2
4 | &1 2 - 4 | &2 ABIOVWY2LIXE | &2 ABTOVI3LIxEL
R T - & 3 - 4 ABT O 141 Xt ik GR %)
6 |%&1 1 - 2
i
8
e I 8% 0] BE BK 15
s Ad—Fh Ba—Fk
B2 HFAER
1 | B2 1 - 4 |B4 1 - 4
2 | B2 2 - 3 |BE4 2 - 3
B I ) 1 - 3 |B4 1 - 3
4 | B2 2 - 4 | B4 2 - 4
M5 | B2 3 - 4 |BE4 3 - 4
6 | B2 1 - 2 |Ba 1 - 2
i
8




